system:

clockinit.c freesem.c intr.S putc.c signal.c
clockintr.c  getc.c ioerr.c gueue.c signaln.c
clockirg.S  getmem.c ionull.c read.c sleep.c
close.c getpid.c irg.S ready.c startup.S
control.c getstk.c kill.c receive.c wait.c
create.c halt.S kprintf.c resched.c wakeup.c
ctxsw.S initialize.c main.c scount.c write.c
devtable.c  insert.c newsem.c seek.c xdone.c
freemem.c insertd.c open.c send.c xtrap.c
include:
clock.h interrupt.h  platform.h  shell.h tty.h
ctype.h kernel.h proc.h stdio.h uart.h
device.h memory.h gueue.h stdlib.h vararg.h
gpio.h mips.h semaphore.h  string.h xc.h
uart:
uartControl.c uartlnit.c  uartPutChar.c uartWrite.c
uartGetChar.c uartintr.c  uartRead.c
tty:
ttyAlloc.c  ttyControl.c ttylnit.c ttyPutChar.c  ttyWrite.c
ttyClose.c  ttyGetChar.c ttyOpen.c ttyRead.c
clock
device
:clockinit() . 1y
clockintr() open()
%clock_update() %close() A/
-z :putC()
getc()
kernel ‘rez_ad() W\
N Swrite() uart
,E”'!”ff(e)r() /‘seek()
prin 'Y
Sdisable() control()
mips :enable()
&/ architecture restore( ) proc
&registers o :Crea.te() O—\%‘
&interrupt masks ‘g_etp|d()
&status registers ‘k'”()
&memory segments ‘ready()
:| resched() shell
Ysleep()
‘enable_iqu( ) xsh_test()
Srestore_intr() %xsh_chat()
! %xsh_help()
%etc.()
platform memory _
l%wrt54gl ofreelist interrupt
Bwrts4g ginterrupt vectors
Sgetmem|() gintrerruptaddresses
Sfreemem() ‘
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